e m
ﬁ — M.
MF_ @
mv Iw.k .
7. w “ : ozﬁ
M. = ﬂ =
- [~a)
~
=)
W. ..H ~7p
< : i
o )
=
0 a7y 11 g W :
L juine s i $3
] [+a]

B-KA ..47

T
(o}
L4
L2
(¢]
g

B-KA ..37




Hollow shaft dimension Torque arm
a e k . H N
Model b | f| h Pla | " | "] | & h, d, L,
c g n q d |2 |5 t gz hz |7 S, L2 Q
2 I, I, u g h, I, a
60 | 100 20 63 60 | M10 | 23.5 | 100-05 | 10.4.0, 22.5 164
B—KA..37 12 | 30" 8.5
35 | 147 | 100-05 | M10 60 17 | 33.3 | 20 10 31 M10x25 210
B—KA..37/T M8 | 45 120
82 | 97 4 25 | 105 | 8 20 | 140wz | 36, 60° 139
70 | 110 20 78 | 75 | m12 | 30 | 11205 | 10.4s0; 22.5 185
B—KA..47 12 | 35% 7.2
70 | 170 | 112-05 | M10 75 | 22 | 383 | 20 12 31 M10x30 243
B—KA..47/T M8 | 50 160
100 | 115 4 3| 132 10 | 20 | 16002 | 36, 55° 166
88 | 122 25 86 83 | M16 | 40 | 132-05 | 16 4400 29 215
B—KA..57 20 | 40 13.1
47 | 182 | 132-05 | M12 83 | 29 | 433 | 18 13 54 M12x35 269
B—KA..57/T M12 | 55 160
105 | 120 5 3 | 142 12 18 | 19202 | g0, 55° 173
88 | 130 25 94 | 90 | M16 | 45 | 140-05 | 14 4.0 29 226
B—KA..67 20 | 40" 20
42 | 182 | 140-05 | M12 90 | 29 | 433 | 25 13 54 M12x35 274
B—KA..67/T M12 | 55 160
110 | 125 5 35 | 156 | 12 | 25 | 200002 | g0 55° 179
102 | 154 32 108 | 105 | M16 | 52.5 | 180-05 | 16.4.00 29 286
B—KA..77 20 | 50" 31.3
48 | 204 | 180-05 | M16 105 | 32 | 53.8 | 25 14 54 M16x40 312
B—KA..77/T M2 | 70 200
122 | 139 6 4 | 186 | 14 | 25 | 25072 | g0, 60° 202
118 | 170 32 123 | 120 | M20 | 60 | 212-05 | 25,0 41 338
B—KA..87 26 6017 25.9
65 | 280 | 212-05 | M16 120 | 36 | 64.4 | 30 16 72 M16x45 390
B—KA..87/T M16 | 85 250
160 | 190 6 4 210 18 | 30 | 3002 | g, 60° 257
160 | 226 36 153 | 150 | M20 | 70 265-1 | 25.00 41 414
B—KA..97 26 | 70" 32.3
83 | 298 | 265.1 | M20 150 | 34 | 749 | 40 17 92 M20x50 435
B—KA..97/T M16 95 300
165 | 190 6 4 270 | 20 | 40 | 350%2 | 400.; 50° 277
190 | 266 44 178 | 175 | M24 | 74 3154 250,08 41 500
B—KA..107 - | 90" 52
100 | 370 | 315., | M24 175 | 40 | 95.4 | 45 20 92 M24x60 537
B—KA..107/T - | 118 350
190 | 230 8 25 | 313 | 25 | 45 | 450+ | 400 55° 341




| |
8007 0r © T
<T1 2 L el gl s o
= o <
c1 18 | Gilll ___ o T P I
O o
= S L]
- RN
6ED® sig ®
o -] [
m 265
oSy o
|
GElo
|
s00L@
< 3
> 0
[¢e] © o
= Z A8 ) 2
-g/g SP s 7 @
o ] S 3
® o 1°€s ; o o |
O Q s||M..u \mwj n % M
3 & 5 //K = @ 2
S [0 N = 7 SN 3
S LA B
M I/@n\.\\ — LLL = oLl
@ b4 % — _—




B-KA..157/T

80°0F 0¥ O

o
—
iy

126-0.3

M36

M36X130

T sl g
R T ¥ 8
4- _
6e® ||l o5y
502 _
0550
o
_ _ =4
o
9 ]
= o RYAY] ol o
RPN/ 13 2
g 1/@@ 3
N — ]
ot} oSt

€9

250

| 253

SSLo

1021 O

460

< <,
P i B
T LR
» ,ﬁ..7)/./o
B X
v :.i._%
}wff#’! 4

% A

EEN



